Xki=09 08 07 05 G5 Q% G302 0

IR

T1 11

T
/

/4

| B

L)

AR

=1 75rm~3
/ / / Ny = 1075

L

|

oo @

[ VOIS % SN N W N U OO OO 1 O S 5 OO

| |
2358 7 70 e (kcm)? 1




.X/X}=09 08 a7 05 Q5 0403

e
. &
TTT] H'x‘li‘T'T'TT”'

I/

ll/V/ /

7

Uj

'/

o1 Wy ~3
W10 7o

i /"

IF

' Lll prod vk peesd v
0235807 1 n 102 (s2cmi”! 104

O —w



T

X/X;=09080706 0504 O

LR

/4

II//

L

-3
ygﬂ_ ' 7 _'
u ‘ / / Ny 100t
8
3 g
21 --
mrsL_!HH 6 of | NI NN | W TN O N S N B | B 5 O
2356107 1 10 102 (QcmfT p4

—

] -



a - enum. cxema
CmandapmHa nNAQHApHo - enu

®ur. 11.1]



7;01/44(20/\*05@ cXema

®ur. 11.3



N

N =noru Si

( noau -3¢

i \
e — — ‘/‘/‘\

B)

e IIFTLIIAIINII sy crresrrss

dur. 11.4



RERALL

V-ATE - cxema

®Gur. 11.5.



— L)
| J

)

‘i

— C e M

% BT &

NT
= =

A1203

g

@ur. 11.6.



\\\\\\\\§ NN
N -Enumancus

basoba Jupysus P -cybempam-  G5Rcm
1082 cm



778

dur. 11.26



2,49

065




|70
40

770

11.28

PDur.



_?- L ﬁdbd’.\'m

flpumMepnu ernodwocmu:

| Ayy=10"cm-?
Ny =10%cm=3
U =4V
a =10um
b =10um
XPA= b /.lm
Hae Noa
N



d)

|

| L] I[l]lll |

I‘"llll T

LML IVII[[I_I T 1

r

NMANNN \“\\\\\\\\_\.\}‘_~\\\\\\_\_\>\\w A
T AN T TR S .
\\\ \\“.“‘\\\\\“v RS (o ] \
>

NRARAANNNER".” AW
s\\\\““\\\\\\““\\\\\“‘\\\\\“ LK/
M MARRTRUNNRRERRRRNNR RN o \’

\\\\\\.\\\\\\\\\\\.\\\\\\‘ o” >

N\ JIRC\S

\‘\\\\\\\‘\\\\\\\\\\\\ K < 2,
ST
AR RN ‘VA‘\‘ s\‘ .' K &
NN NN, e Ry ‘e
A

----- ‘\“\“\‘“\“3\“&3 \“C‘l‘i“:‘:‘ = %

\\\\\\\\\\\\\“\\\\\\\\':&'e i8
NEAARNRN MR NN\ &

‘\\\\ “‘\\&_\\\\\ Ao’:s‘ Y% "Ob

)

[~ 2N
AN AT - “\\\\\““".s\" : 0
\\\\““‘\\\V‘“"‘\‘ ROS” Sy
MANNMRNMNARABRYNRNNED " Y O " 'A‘

h\\\\\\“‘“\}\‘l\\’
NSRS

A ““'A“ AL \\'4' S/
\, ‘ “\ \\\' '
N 619\\9\\‘. QVAQI' SR 0\)‘
N
A 1‘¢ "\Q}\\ Y v > N
v \\\
' S\
N,y =10~*
Nac/Nps =1
A Gaub




470

440

410

15

200

1] d0X=0,2/’77

+V
p

'0/;: -IW)

R Dt
2 Juyy- v
Tvpw X
De-py
Tene Ir-(7)
; —>t




+ Nt
2 N NE A
by b2
o
< B 8
flodronka P
)
Q

dur. 11.33

=750

lp




130

235

ST 1 ff Us S T
2 4
pr = = S e —'t"‘oB
# /) {8
p
4
&/ L
57=5/11m
Lo=5
W 7
. 4
Z
’ Z
s. <
= 7
o Z
N 20
>
b

5/ Qur, 11.34

a)



1k 400
5 —— £
7 56k
8 _lqj
g 10 4 7
al

a)

Gur. 11.42



EL‘C
4k 4k [[A 4k [‘] 4k 16k 120

H
TS
A

TOHM My o >
A
N

533 R

B’)

Pur. 11.42



770
5

757

53

80

RIS

S
i s
740
\
T2g: 729
0
760
790
-
28l
\
o
X
2
7 7-711-: T?‘f
25 MA 740



51

5€l

st

ol

EL

59

T34
MmA 740

25
130

7

160
220

MATH0

179

3

MM.i1.1.3



IT 11.1.1

262




75

MA 740
Tpan3ucmop Tgu Ty

708

134
105

L=

Tm» 7.77
_/VZA 740

7 72

ITI11.1.5



